
In[3609]:=

TransposeAikjjjjjjj 1 1 1
1 −1 0
1 1 −2

y{zzzzzzzE.ikjjjjjjj 1 1 1
1 −1 0
1 1 −2

y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj 1 1 −1
1 −1 0
−1 −1 −2

y{zzzzzzzE.ikjjjjjjj 1 1 −1
1 −1 0
−1 −1 −2

y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj −1 1 1
1 1 0
−1 1 −2

y{zzzzzzzE.ikjjjjjjj −1 1 1
1 1 0
−1 1 −2

y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj −1 1 −1
1 1 0
1 −1 −2

y{zzzzzzzE.ikjjjjjjj −1 1 −1
1 1 0
1 −1 −2

y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj 1 êSqrt@3D 1êSqrt@3D 1êSqrt@3D
1 êSqrt@2D −1 êSqrt@2D 0
1 êSqrt@6D 1êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj 1êSqrt@3D 1êSqrt@3D 1êSqrt@3D

1êSqrt@2D −1êSqrt@2D 0
1êSqrt@6D 1êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj 1 êSqrt@3D 1 êSqrt@3D −1êSqrt@3D
1 êSqrt@2D −1 êSqrt@2D 0
−1ê Sqrt@6D −1êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj 1 êSqrt@3D 1 êSqrt@3D −1êSqrt@3D

1 êSqrt@2D −1 êSqrt@2D 0
−1 êSqrt@6D −1 êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj −1ê Sqrt@3D 1 êSqrt@3D 1êSqrt@3D
1 êSqrt@2D 1 êSqrt@2D 0
−1ê Sqrt@6D 1 êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj −1 êSqrt@3D 1êSqrt@3D 1êSqrt@3D

1 êSqrt@2D 1êSqrt@2D 0
−1 êSqrt@6D 1êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj −1ê Sqrt@3D 1 êSqrt@3D −1êSqrt@3D
1 êSqrt@2D 1 êSqrt@2D 0
1 êSqrt@6D −1 êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj −1 êSqrt@3D 1 êSqrt@3D −1êSqrt@3D

1 êSqrt@2D 1 êSqrt@2D 0
1 êSqrt@6D −1 êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj 1 êSqrt@3D 1êSqrt@3D 1êSqrt@3D
1 êSqrt@2D −1 êSqrt@2D 0
1 êSqrt@6D 1êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj ml 0 0

0 mt 0
0 0 mt

y{zzzzzzz.ikjjjjjjj 1 êSqrt@3D 1êSqrt@3D 1êSqrt@3D
1 êSqrt@2D −1êSqrt@2D 0
1 êSqrt@6D 1êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj 1 êSqrt@3D 1 êSqrt@3D −1êSqrt@3D
1 êSqrt@2D −1 êSqrt@2D 0
−1ê Sqrt@6D −1 êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj ml 0 0

0 mt 0
0 0 mt

y{zzzzzzz.ikjjjjjjj 1 êSqrt@3D 1 êSqrt@3D −1êSqrt@3D
1 êSqrt@2D −1 êSqrt@2D 0
−1 êSqrt@6D −1 êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm
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TransposeAikjjjjjjj −1ê Sqrt@3D 1 êSqrt@3D 1êSqrt@3D
1 êSqrt@2D 1 êSqrt@2D 0
−1ê Sqrt@6D 1 êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj ml 0 0

0 mt 0
0 0 mt

y{zzzzzzz.ikjjjjjjj −1 êSqrt@3D 1êSqrt@3D 1êSqrt@3D
1 êSqrt@2D 1êSqrt@2D 0
−1 êSqrt@6D 1êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

TransposeAikjjjjjjj −1ê Sqrt@3D 1 êSqrt@3D −1êSqrt@3D
1 êSqrt@2D 1 êSqrt@2D 0
1 êSqrt@6D −1êSqrt@6D −2êSqrt@6D y{zzzzzzzE.ikjjjjjjj ml 0 0

0 mt 0
0 0 mt

y{zzzzzzz.ikjjjjjjj −1 êSqrt@3D 1 êSqrt@3D −1êSqrt@3D
1 êSqrt@2D 1 êSqrt@2D 0
1 êSqrt@6D −1 êSqrt@6D −2êSqrt@6D y{zzzzzzz êê MatrixForm

H 1 1 1 L .ik
jjjjjjjjjjjj

mlcccccc
3
+ 2 mtccccccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3

y
{
zzzzzzzzzzzz.ikjjjjjjj 111 y{zzzzzzz ì 3 êê MatrixForm

H 1 1 −1 L .ik
jjjjjjjjjjjj

mlcccccc
3
+ 2 mtccccccccc

3
mlcccccc
3
− mtcccccc

3
− mlcccccc

3
+ mtcccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3
− mlcccccc

3
+ mtcccccc

3

− mlcccccc
3
+ mtcccccc

3
− mlcccccc

3
+ mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3

y
{
zzzzzzzzzzzz.ikjjjjjjj 1

1
−1

y{zzzzzzz ì 3 êê MatrixForm

H −1 1 1 L .ik
jjjjjjjjjjjj

mlcccccc
3
+ 2 mtccccccccc

3
− mlcccccc

3
+ mtcccccc

3
− mlcccccc

3
+ mtcccccc

3

− mlcccccc
3
+ mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3
mlcccccc
3
− mtcccccc

3

− mlcccccc
3
+ mtcccccc

3
mlcccccc
3
− mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3

y
{
zzzzzzzzzzzz.ikjjjjjjj −111 y{zzzzzzz ì 3 êê MatrixForm

H −1 1 −1 L .ik
jjjjjjjjjjjj

mlcccccc
3
+ 2 mtccccccccc

3
− mlcccccc

3
+ mtcccccc

3
mlcccccc
3
− mtcccccc

3

− mlcccccc
3
+ mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3
− mlcccccc

3
+ mtcccccc

3
mlcccccc
3
− mtcccccc

3
− mlcccccc

3
+ mtcccccc

3
mlcccccc
3
+ 2 mtccccccccc

3

y
{
zzzzzzzzzzzz.ikjjjjjjj −11−1 y{zzzzzzz ì 3 êê MatrixForm

Out[3609]//MatrixForm=ikjjjjjjj 3 1 −1
1 3 −1
−1 −1 5

y{zzzzzzz
Out[3610]//MatrixForm=ikjjjjjjj 3 1 1

1 3 1
1 1 5

y{zzzzzzz
Out[3611]//MatrixForm=ikjjjjjjj 3 −1 1

−1 3 −1
1 −1 5

y{zzzzzzz
Out[3612]//MatrixForm=ikjjjjjjj 3 −1 −1

−1 3 1
−1 1 5

y{zzzzzzz
Out[3613]//MatrixForm=ikjjjjjjj 1 0 0

0 1 0
0 0 1

y{zzzzzzz
Out[3614]//MatrixForm=ikjjjjjjj 1 0 0

0 1 0
0 0 1

y{zzzzzzz
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Out[3615]//MatrixForm=ikjjjjjjj 1 0 0
0 1 0
0 0 1

y{zzzzzzz
Out[3616]//MatrixForm=ikjjjjjjj 1 0 0

0 1 0
0 0 1

y{zzzzzzz
Out[3617]//MatrixForm=i

kjjjjjjjjjjj
mlcccccc3 + 2 mtcccccccc3

mlcccccc3 − mtcccccc3
mlcccccc3 − mtcccccc3

mlcccccc3 − mtcccccc3
mlcccccc3 + 2 mtcccccccc3

mlcccccc3 − mtcccccc3
mlcccccc3 − mtcccccc3

mlcccccc3 − mtcccccc3
mlcccccc3 + 2 mtcccccccc3

y
{zzzzzzzzzzz

Out[3618]//MatrixForm=i
kjjjjjjjjjjj

mlcccccc3 + 2 mtcccccccc3
mlcccccc3 − mtcccccc3 − mlcccccc3 + mtcccccc3

mlcccccc3 − mtcccccc3
mlcccccc3 + 2 mtcccccccc3 − mlcccccc3 + mtcccccc3

− mlcccccc3 + mtcccccc3 − mlcccccc3 + mtcccccc3
mlcccccc3 + 2 mtcccccccc3

y
{zzzzzzzzzzz

Out[3619]//MatrixForm=i
kjjjjjjjjjjj

mlcccccc3 + 2 mtcccccccc3 − mlcccccc3 + mtcccccc3 − mlcccccc3 + mtcccccc3
− mlcccccc3 + mtcccccc3

mlcccccc3 + 2 mtcccccccc3
mlcccccc3 − mtcccccc3

− mlcccccc3 + mtcccccc3
mlcccccc3 − mtcccccc3

mlcccccc3 + 2 mtcccccccc3

y
{zzzzzzzzzzz

Out[3620]//MatrixForm=i
kjjjjjjjjjjj

mlcccccc3 + 2 mtcccccccc3 − mlcccccc3 + mtcccccc3
mlcccccc3 − mtcccccc3

− mlcccccc3 + mtcccccc3
mlcccccc3 + 2 mtcccccccc3 − mlcccccc3 + mtcccccc3

mlcccccc3 − mtcccccc3 − mlcccccc3 + mtcccccc3
mlcccccc3 + 2 mtcccccccc3

y
{zzzzzzzzzzz

Out[3621]//MatrixForm=H ml L
Out[3622]//MatrixForm=H ml L
Out[3623]//MatrixForm=H ml L
Out[3624]//MatrixForm=H ml L
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